1- Risolvere 'equazione: sen(2x — 6°) = sen(2x — 9°).

2 Risolvere 'equazione: cos(3x + 206°) = cos(3x — 2073,
3 ﬁfsufﬁéré .J'.’equaz.'faﬁe: tg(&x - éﬂ“) = tg(2x + 50°).

4 Risolvere I:’équaziaﬁé: tg(4x — 10°) = tg(4x — 12°).
5 Risolvere Pequazione: tg(6x — 30°) — tg(6x + 150°).

6 Risolvere 'equazione: ctg(5x — 6°) = ctg(x — 10°).

T Risolvere I'equazione: sen(2x — 16) = %
8 Risolvere 'equazione: 2sen’x — 5cosx — 4 = 0.

9 Risolvere I'equazione: 2sen®x — 7sen’x 1 7senx — 2 — 0.
10 Risolvere r'equazions: senx — cosx — 1.

11 Risoivere l'equazione: sen2x — senx — tgx.

12 Risolvere l'equazione: 3tgx + 3ctgx = 44/3.



